Example solutions:
\#1 FIMST DERIVATIUE TEST ANSWERS $f(x)=x^{3}-3 x^{2}-24 x+2$

$$
\begin{array}{ll}
f(x)=x^{3}-3 x^{2}-24 x+2 \\
f^{\prime}(x)=3 x^{2}-6 x-24 \\
f^{\prime}(x)=3\left(x^{2}-2 x-8\right) \\
f^{\prime}(x)=3(x+2)(x-4) \\
0=3(x+2)(x-4) \\
\text { CRITISALPONNTS@ } \\
x=-2, x=4
\end{array} \quad \begin{aligned}
& \text { 1 St DERIUATIUETEST } \\
& f^{\prime}(-3)=3(-3)^{2}-6(-3)-24=21 \\
& f^{\prime}(0)=-24 \\
& f^{\prime}(5)=41
\end{aligned}
$$

\#2 Éx. 2

$$
f(x)=(2 x+6)^{4}
$$

FIRST DERIVATIUE

$$
f^{\prime}(x)=4(2 x+6)^{3} \cdot 2
$$

$$
0=4(2 x+6)^{3} 2
$$

$$
f^{\prime}(-4)=4(2(-4)+6)^{3} 2=-64
$$

$x=-3$ critical point

$$
\begin{aligned}
f^{\prime}(-4) & =4(2(-4) \\
f^{\prime}(-3) & =0 \\
f^{\prime}(0) & =1728 \\
x-4 & -3 \\
f^{\prime}(x) \backslash & 0 \\
\min @ x & =-3
\end{aligned}
$$

\#3

$$
\begin{aligned}
& f(x)=\ln \left(x^{2}+1\right) \\
& f^{\prime}(x)=\frac{1}{x^{2}+1}(2 x) \\
& \text { flest derivatiue } \\
& \text { TEST } \\
& f^{\prime}(x)=\frac{2 x}{\left(x^{2}+1\right)} \\
& f^{\prime}(0)=0 \\
& f^{\prime}(1)=1 \\
& 0=\frac{2 x}{\left(x^{2}+1\right)} \quad \begin{array}{l}
\text { CRITICAL POINT } \\
x=0
\end{array} \\
& \begin{array}{llll}
x & -1 & 0 & 1
\end{array} \\
& f^{\prime}(x) \\
& f^{\prime}(-1)=-1
\end{aligned}
$$

